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Twentieth International Mathematics Contest (Taiwan)
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1. As shown on the right, in the triangle ABC, AB=6, BC=15, A__ =10 Fd I E

and AD, BE, CF are the heights on the sides of BC, AC, AB
respectively, then AD: BE: CF=?

(A)15:10:6 (B)2:3:5 (C)5:3:2 (D)6:10:15 B D C
<f345>
m fE F&éﬁh’r’é %“F v
AD:BE: CF=m i =—=—:—:-=0:3:5 » ¥ B »

BC AC 4B 15°10°6

2. 4+ B > #3235 ABCD » AD//BC » #-AB-+ % 4 > 8 E; ~ Ey ~ E3
Ei~. ... nEo4 BEALAE; 2 BCDL-EA > B F~F)~ F3~

Fo~ ...~ Fod B35 A& 8L i@ 32E ) ~ ExFy ~ E3F5~ oeeee s EoF »
¥AD=2 > E\F\=5 > R|BC= > (A)28 (B)30 (C)32 (D)34
<fz45>
AD ~EiF ~FgFz ~ oooeee EoFo ~ BC# % 4 #c7]
a1-AD=2
a2-E1F\=5 — d=5-2=3 A

BC=an=a1+10d=2+(11-1)x3=32 » i¥ C -

3.4 > 2 £ NABC ¥ > w i3, BDEF % it > 3} o © 4v4B=8 2 A > r B
BC=6 =>4 » R|EF= X h o (A) % (B) 25_4 (C) % (D) 15_2
<fE$7>

NAFE~ANEDC(AA 4p 017)
2% EF=BF=x > AF=8-x
8—:6— —x=(8-x)(6x) » X?=48-1dxto » x=2 0 F A °
%+ﬁmmmﬁ CFREE L EE SRR ER L3R EFRAET M
90000 B R 2 RS AL ,;q? (A)45000 (B)30000 (C)11250 (D)10000

<ﬁzv}fr>

90000+3°=10000

ij’g Do ¥y
CERAF TR 2P P 2 300 e R EAAT R

i&ﬁ 300 )2t > R ERHRE SR M o BALFL LY
A (AT B O7T (D) ‘
<jE$7> 0 3010 650 +12:50
Lk i 12956086t0:61§0_0 02 = SR
i 3% 650 fy—>421F 650-300=350
AZWE R A F 0.02x350=7 ~
AAF=847=77T < » F C-
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6.7 &% 140 3F RT3k > d b A TRA=Z A ot Bl F- AR C

o R R R RIS K B FNEE CS/QOC
B3 T 1gs 55 K2 (A)14 (B)I5 (C)16 (D)17 SO0
i oo

142+43+...+n<140
(1+n)xn+2<140 — (1+n)xn<280 > n=16
BSpim 16k % Co

7. As shown in the figure on the right, in AABC, AD is the angle bisector
of <A, and the height BH on AC intersects the perpendicular bisector
OM on AB atapoint O on AD.If ~ABC=53° then /C=
(A)57° (B)67° (C)56° (D)66°

<f345>

¢~ CAD= ./ BAD=x°

.. ZOBM=x° > ~OBD=(53-x)°

.. 2 C=90°-(53-x)°=180°-2x°-53°

..90°-53°+x°=127°-2x° » 3x°=90° > x=30

.. £ C=180°-60°-53°=67°

ivg B- y
A(-1,1) B2, 1)
8.3 & 4T 5 + 4 - 35 ABCD > 4+ ) » AC ~ BD4n 2 ** o B RN x
O BIAAOD % F= > (A)9 (B)4.5 (C)6 (D)4 \
<f#&+7> D C(3.-3)

OAAOB=3x1+2=3 > = NAOB~/\COD(AA 10 1)
AAOB: ACOD=1%3>=1:9

ACOD=x9==

® 4 NAOD=ABOC=x

3 27 9 |
_)xZZ_ X — ) X/ 3\%? B o
2 2 2

9.4+ Bl > ¢ w/AOBE fw 4.5 > AOBC e f .10 0 A\
OCD trg ## 2.8 » K w 835 AEOD w #£ 2_% > 2 (A)20
B)21 (C)22 (D)24

<ﬁ’z,=’v}fr>

@ A0

/AAOE: NAOC=EO:CO=/\BOE:/\BOC

x:(+8)=5:10—5y+40=10x > y=2x-8

/A\AOB: /NAOD=BO:DO=/\BOC:/\DOC

(x+5):y=10:8—10y=8x+40

10(2x-8)=8x+40 > 12x=120 > x=10

Cy=2x10-8=12

r 35 AEOD=x+y=10+12=22 > i C o
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10. FlO*® A4~B~C~D 5 Fltwg,e 5AD 1 OC > L ABC=23" - B
ZADO s #ics @27 (A)44° (B)45® (C)34° (D)35°

<fZ{7>

""AD_1.0C

.".arc CD=arc AC=2 L ABC=46"

— /COD= arc CD=46"

S ZADO=180"-90°-46"=44" > :F A -

11. 4=+ @B » % LABC=-DCA » AB=8 » BC=6 > AC=9 » CD=12 > 8
— 9 13 1 27

pIAD=? (A) 5 (B) = (C) = (D) =

<fZ{7> 6

AABC 4= ADCA

® £ ABC=./DCA

@BC:AC=6:9=2:3

®AB:CD=8:12=2:3

SCAABC~ADCA(SAS #p 12)

AC:AD=2:3 — 9:AD=2:3 > Ez% » 3 Do

A
12. 4c+ B » &/ A\ABC ¥ > BD:CD=4:3 » AE:DE=3:2 > ® DH//BF >
AC=39 » PICH=? (A)8 (B)9 (C)I0 (D)I2 \,
<fiz45>
D C

"."DH//BF B
.. AF:FH=AE:DE=3:2

FH:CH=BD:CD=4:3

% AF:FH:CH=6:4:3 » ~ AC=39

.'.C—H=39X%=9’§;§Bo y
13 404 B LT G 1o FI Py it CBE o 2 x T

A(49,0) ~ B(1,0) > RIFl< P BL4HE 5 02 (A) (25, -7)
(B) (25,-8) (C)(20,-7) (D) (20,-8)

<ﬁ';’v}fr>

*® P(a, D)

a=-"=25 » CP=BP=25 > AB=49-1=48

|b|=V25%-24°=7 — b=-7

SP(25,-7) 0 E A

QAo

e
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(A) ®5 (© Z oy %
<ﬁ¢ﬁ>
NAOB ~ ANCDB y
O «sB=/B D
® £ AOB=~2BDC=90"

y
NAOB~/N\CDB(AA #p i17) \
A0 _AB 3 NP s TE o Bae
"'CD BC Ch  4+5 9 \

1 L1

15. 4+ B » Li//Ly, » & £4=75" > B L1+ 22+ £3=? 5/B
(A)95° (B)105° (C)115° (D)125° C
<ﬁ;+{T> L2

CLi/Ly— £ 1=25 . DK‘
» 2+ /5=/6 4
X 3+ 26+ 24=180°
L1+ 224 234+ 24=180° F ~£4=75° E)

5 6 4 2
£ 1+ 22+ 23=180°-75°=105° » i B - b DY .

16. 3 — B #I0:
3
D) >

<frti>

AA=D 4 23

ra=354 3%
2+3+4+5+6+7+8=35

SF|§ 3590 0 AR 8 ep
L35 =l A

e % 353 E—;M(AM(B)—(C)-

17. AABC ® s /BAC=90° > LA~ /B ik T i 5u4AD ~ BE%
3+ [ AB=5 > AC=12 » £AI:1ID=? (A)17:13 (B)13:17 11
(0)15:13 (D)13:15 5 5 c
<fE$7>
BC=V5>+12*=13 » AD % 4 T i 3
*.BD:CD=4B:AC=5:12—>BD= 13x1—7—§
BEL & T &

. Al - TID=AB:BD=5: %17:13 v E A o
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18. P ERS =M x4p 8- A2d & L= 55600 &0 BATEE A MRT 0 H
B BEAEATUCG 4070 FRAT at B ALHED A P b-a=? (A)793
(B)692 (C)550 (D)660

<fz45>

BAat o isk@@2)h s RAAHELD & o {8 K (b-140)~ o

(a+2)(b-140)=ab=5600

..ab+2b-140a-280=ab > 2b=140a+280 > b=70a+140 * ab=5600

a(70a+140)=5600 » a*+2a=80 > a*+2a-80=0 > (a+10)(a-8)=0 > a=8 &% a=-10(Z~1)

b=70a+140=560+140=700

# b-a=700-8=692 > i¥ B o

L3R

4
5

19. = 4238 3x2-ax+8=0 &£ § #cf# 0 @ > 425 2704+5x+a=0 0 F & 49 B P HefE o % LY EiE
i ica BE F & B2 (A0 (B)11 (C)12 (D)13

<fZ{7>

OF 5§ § r A ‘%'J 74<0

(-a)*-4x8x3<0 » a*-96<0

. .-V96<a</96

®r*v AP R F Befd— 2w 54>0

25-4xax2>0 > 25>8a
25

a<§
d Q@ v > +/96<a<=
Bi#ca=-9~-8~-T~ ... ~0~1~2~3 X I3 ED-
20. % x€R ¥ y= J(x 3+ J(x+5) Plyzs &5 (A2 (B8 (C)3 (D)5
<fE$7>
XER

y=J (x—3>2+J (c+5) =3} Hr5|
Sy 2k B=3-(-5)=8 E B o

21. The figure on the right is composed of 6 semicircle arcs (& [f]5%)

and 6 i arcs(5%). If the diameter 1s 3, what is the area of the gray

part in square units?
(A9 (B)27 (C)30 (D)l127x
<ﬁ';’v}fr>
B-RDE AT A ?ﬁ;@q;
o ff=3 ><5><6—27 # B

22. T & nFF 3k nl=nx(n-1)x(n-2)x(n-3)x:---- X3x2x1 > Bl4e: 41=4x3x2x1 > F x!=6!x7! > R
x=? (A)13 (B)9 (C)10 (D)42

<jZ{7>

xX!1=TIx6x5x4x3x2x1=T1x8x9x10=10! > B] x=10

ECo
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2
23 47 2~ 22~ 227 2 227« LD 5 B ST 6 4 10001997 (23=2x2x2=8)

(A)4 (B)5 (C)101 (D)1001
<f#47>
©) 10001000:(1 03)1000
@ a1=2
a,=2%=2x2=4
a=22"=2*<16
as=24=216=210x26=1024x64=65536

a5:2a4:265536:(210)6553X26:10246553><26>(]O3)6553><64>(103)1000 s EL-:C,‘?; 5 IE s Sgg B

D
E
24. Refer to the diagram, the area of quadrilateral ABCD is 120 square 7
units, ED=2AE, BF=2FC. G and H are midpoints of BE and DF, H
respectively. What is the area of the shaded quadrilateal EGFH? (A)30
(B)35 (C)40 (D)60
<fZ{7>
@w §2) EBFD=2(x+y)
» #75 ABCD=3(x+)
— 1 37 EBFD=3x® i 7) ABCD=-x120=80
@w §) EGFH=a+b
w1825 EBFD=2(a+b)
—w i#3) EGFH=x i§ %) EBFD=>x8040 » i C °
2540+ 2 479 0 8 Bk BR - TARER ] FRA- B R B ik &
¢ 20 B2 i (A)5710 (B)5720 (C)5730 MRS SRR ELH AL
47 117 [@] 21 23|25 |63
(D)5740
<fati> 4511501 |®] 5 [27]65
Dar=T=7+8x(1?-1)=h; 3113119 |@D|29]67
as=T+12x2=T+24=T+8x3=T+8x(22-1)=b, 41139 373533 |GD| 69
a6=T+12x2+20x2=T+8x(3+5)=7+8x(32-1)=bs 3@

ag=T+12x2+20x2+28x2=T+8x(3+5+7)=T+8x (4% 1)=bs

a20=b10=7+8%(10%-1)
D artastaect....Fan=bitbot. ... +b1o=7x10+8x(124+22+3%+...+10%)-8x10
> 70+8x 2121 80=3080-10=3070
@a3=19=c;
as=19+12+20=19+32=19+16x2=c,
a7=19+12+20+20+28=19+80=19+16x5=19+16%(2+3)=c3
a9=19+12+20+20+28+28+36=19+16x(2+3+4)=c4
a1=19+16x(2+3+4+5)=cs
(k-1)(2+k)

a13=19+16x(2+3+4+5+6)=cc=19+1 6XT (4 k=6)

=19+8(k?+k-2)=8k*+8k+3=8x6>+8x6+3

@19=Co=8x9%*+8x9-+3
astastart....Fajg=citcytest...... +c9
=8(1242243%4....49%)+8(1+2+3+...49)+3x9

=8xgx1ZX19+8><45+27=2280+360+27=2667

® a1t(artastast..... Fax)t (astastart.....+a19)=7+3070+2667=5740 > £ D -
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©@ (¥DE//AC » % BC** E 8k
8] AADP=/\PCE

— /N\ABE=% i§7} ABCD 5
® (eBEY B Q0 B BRAD > 5 4k

2. Try to solve the equation: Vx+8-v5x+20+2=0
<fE$7>

Vx+8=V5x+20-2......... ©)

A o T S > (Yot 8) =(V5x120-2)
x+8=5x+20-4(v/5x+20)+4

4(\/5x+20)=4x+16

Nz
A i I T 2 > 5x+20=x>+8x+16

X>+3x-4=0

(x+4)(x-1)=0

x=-4 g x=1

F =4 8 r O > V£ [5x(-4)+20-2 5 2#-2
B x=1 & » @ » VI+8=V5+20-2 » 3=3(& 12)

=1
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